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St e e e = 5 &) . ~ G . EE H3 H6 H9 H12 H14 H20 H22 H23 H24 H25 H26 H27 H28 H29 H30 R1 R3 4
S G 1 MEtBIRERR (SR - 1~5 BiRfE 11,436]  10,524] 12,048] 7,720 6,729] 7,335  7,062]  6,986]  7,219] 6,729  7,406]  6,086]  7,052] 5,433 576 5,214 4,250] _ 3,950] 4,26
Jr 7. ] 3.9149] 4157 4,497] 3,117 2.730] 1,873 1,969  1.839] _ 1.772] _ 1.724] _ 1,214] 1,342  1,350] _ 4.561] _ 4,988]  4,819]  4,710] _ 4,278] _ 4,583
ot T B v | L — 8,225] _ 9.223] 10,36 6,647 4,801] _ 4,196] _ 3.688]  4.338] _ 4.993] _ 3.493] 4647  4.619]  3.742] _ 4.818]  4,078] 5,054 _ 4,412] _ 3.788] 4,252
S il A - 3,269] _ 1.270] 1,46 1144 1,117 1,113 1,243 1,203 1,103] 1,314 1,219] _ 1,.259] _ 1,337] _ 1.101] _ 1,046] 1,064 920 925] 1,006
7,087]__10,710] _20,886] _ 7.491] _ 6.353] _ 5.628] _ 6.159] _ 5,980  5.753] _ 5.872] _ 6.586] _ 6.047] _ 6.129] _ 5,985]  5,734] _ 5.746] 5,245  4,460] 4,488
5. 741 6,075] _ 6,081 4,679] _ 3.830] _ 2,588] - - - 3,009 - 2,671 2.583] 2,457  2.546] _ 2,601] _ 2,396] _ 2.216]  2.43
- - - - - - - - - - - 755 900 268 303 438 1,314 1,189 1.43
33,766] _ 35,884] _49,253] 26, 119] _ 21,730 _ 20, 144] _ 20,120] _ 20,346] 20,898 _10,131] _21,071] _19,352] 19,619] 21,897 _21,600] _21,896] 19,537] 17,401 18,68
1.68 178 2.45 1.30 .08 .00 17.00 1.01 1.0 0.05 1.05 0.96 0.97 1,09 1,07 1,09 0.97 0.86 0.93
FEERRaT - - - - - - - - - - - 16, 731]__16,973] 19,637 19,724 _ 20,188] _ 18,002] _ 16,345 _ 18,061
i = H2TERELL - - - - - - - - - - - .00 101 117 .18 121 1.08 0.98 1,08
Y | = E— 0/27(E) [ 10/23(EN) [ 10719 (D) [ 10/22, 25(ED [ 107200 | 10719 () [107T7CED [ 10/16(ED) [ 10/ 14(ED [ 10727CEN) [ 10726 (D [ 10/18 (D [ 10/16(ED [ 11/5(H1) [10728(ED [10/27(ED) [10/18(FD [ 107100 [ 10/23(ED
B UERAI : 0/28(B) [10/24(B) [10/20(F) [10/23,308)[ 10/28(B) | 10/7CK) [10/18(B) [10/17(B) [10/15(B) [ 10/28 (B) [ 10/27(B) [10/19(B) [10/24(B) [ 11/6(8) | 10/29(8) [10/28(B) [10/19(B) [10/11(F)[10/24(8)
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HEHS H3 6 HO H12 Hi4 H20 22 23 24 H25 H26 27 H28 H29 H30 Rl R2 R3 R4
3 10,930] 11,262] 12,774 9,163] _ 6,329]  7,669]  7,362]  6,603] _ 6,610]  7,086]  7,961]  6,497]  7,485] 5,757 7,184]  5918] 5,285] 4,74 5,074
Ey 3,944 4,43 7,806] _ 3.562] _ 2.674] _ 2,099]  1,938] _ 1.964] _ 1.834] _ 1,880] _ 1,224] 1,372 298] 5,155] _ 5,979] _ 5.516] _ 5.864] _ 5.092] _ 5,071
3 |F 9,184 11,458] 12.772] _ 8.819] _ 5.043] _ 4.888]  4,389] 5,022 _ 6.399] _ 4.627] _ 5.796] _ 5,278] _ 4,009] _ 5.903] _ 5.284] _ 6,620 _ 5.998] _ 4.852] _ 5,878
— 3,092 240 1,314 1,211] 1,088 1.166]  1,298]  1,183]  1.144]  1.285]  1.208] _ 1.237] 1241 1,130 _ 1.114] _ 1,097] _ 1,058 _ 1.073] 1,264
AR R 5,764]  11,984]  23.218] 8,620 _ 6.048] _ 6.482] _ 6.733] _ 6.451] _ 6.336] _ 6.172] __7.690] _ 6.977] _ 6.928] _ 6.303] _ 6,.948] _ 6.520] _ 6.378] _ 5.173] _ 5,572
| Eo: T 5,741 6,075] _ 6,081 4.679] _ 3.830] _ 2.588] - - - 3,006 - 2.850] 2,584 2,709] _ 2.791] _ 2.878] _ 2.728] _ 2.466] _ 2.823
AT g NEEDEESIA - - - - - - - - - - - 798 027 1,378 1,400 1.486] 1,508 1,372 1.688
° | (1T _ R A 32,014 40,382] 54,884] 31,375 21, 182] _ 22,304] _21,720] _21,223] _22,323] _21,050] 23.879] _21,361] _20,961] 24, 248] _ 26,500] _ 25,671 _ 24,583] _ 24,802] _ 27,370
Q A 1.48 1.81 16 1.41 .05 1.00 0.97 0.95 1.00 0.9 1.07 0.96 0.9/ 1.09 1.19 .15 17.10 .1 1.23
s HEErS = = - B - - - - - - 18,032]__17,544]_22,032] 23,761 23,515] _ 22,531]__19,629] _ 21,798
I H2TEERELL - - - - - - - = = = = .00 0.97 .22 1.32 1.30 1.25 1,09 1.21
3 &N T0/27CE) [ 10/23 (2D | 10719 (D) [ 10722, 29(EN] 10720 (L) | 10/19(ED | 10/ 17CED | 10716 (E0) | 10/14(ED | 10/27(ED) | 10/26(ED ] 10/18(E) | 10/16(EN] 11/5(H) [ 10/28(ED ] 10/27(H) | 10/18(EN) ] 10/10(E) ] 10/23(F)
(10:00~18:00)) (A/8hr)

----- HEHS 3 H6 HO H12 Hi4 H20 H22 123 W4 H25 H26 027 H28 H29 H30 ] R2 R3 R4
g 11,942 9,786] 11,322] _ 6,277] __ 7,129] __ 7T,001] _ 6,761] _ T,369] _ 7,947 _ 6,372] _ 6,851] _ 5, 674] _ 6,618] _ 5,108] _ 4,344] __ 4,500] _ 3,214] _ 3,126] 3,461
3,554 3,876] 4,188  2,672]  2.786]  1.646]  2,000] 1,714 _ 1,709]  1,568] _ 1,204] _ 1,311]  1,419]  3.966] _ 3.996]  4,121]  3.556]  3.464] 4,004
| | 7,266]  6,988]  7.950] 4,475 _ 4.558]  3.503] _ 2.986]  3.654] _ 3.587] _ 2.358] _ 3.497] _ 3.959]  3.475]  3.733] _ 2.871] _ 3.488] _ 2.825]  2.723] _ 2.626
2 =i 11_ = I = £ 3,446] 1,300 1,608] 1,077 1,146]  1,060] 1,187 1,222  1,061]  1,342] 1,230] _1,281] 1,432 1,012 977 1,030 782 777 927
== J CE0 ) b~ terdH 14 Fjelun 8,410 9.436] 18.554]  6.363] _ 6.658] 4. 773] _ 5.585] 5,500 _ 5.169] _ 5.572] _ 5.481] 5. 117] _ 5.330] _ 5.667] _ 4.520] 4,972 4 112] _ 3.747] _ 3.404
= oD G C IR T e e 5,741 6,075] 6,081  4,679]  3,830] 2,588 - - - 3,192 - 2.504] 2,581 2,204 2,301] _ 2,324] 2,063 ,966] 2,038
N — = S S - - - - - - - - - - - 712 873 1.1581 1,197 1,380] 1,029 005 111
] Ji o T L 5 34,618] _31,386] 43,622] 20,863] 22,277] 17,983 18,5619] 19,468] 19,473] 17,212] 18,263] 17,342] 18,274] 19,546] 16,708] 18,120] 17,581 16,808] 17,723
I sH a8 i 1,66 1.50 2.09 1.00 1.07 0.86 0.89 0.93 0.93 0.83 0.88 0.83 0.88 0.94 0.80 0.87 0.8/ 0.8 0.85
- 23 i FEERRaT - - - - - - - - - - - 15,441] _ 16,398] _17,241] 15,686 _ 16,861] _13,460] 13,061] 14,319
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